
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

70% = ________ 96% = ________

98% = ________ 51% = ________

22% = ________ 46% = ________

79% = ________ 27% = ________

99% = ________ 56% = ________

2% = ________ 72% = ________

19% = ________ 61% = ________

38% = ________ 26% = ________

49% = ________ 2% = ________

14% = ________ 18% = ________
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل الكسور العشرية إلى نسب مئوية

70% = 0.7 96% = 0.96

98% = 0.98 51% = 0.51

22% = 0.22 46% = 0.46

79% = 0.79 27% = 0.27

99% = 0.99 56% = 0.56

2% = 0.02 72% = 0.72

19% = 0.19 61% = 0.61

38% = 0.38 26% = 0.26

49% = 0.49 2% = 0.02

14% = 0.14 18% = 0.18
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